Grammar Test 7 (L3/4)
1.Put one letter in each box to show the word class
Noun
verb
adjective
adverb

   A
   B
       C
   
      D

The best player was obviously Michael.

2. Tick the word which means the opposite of numerous
Simple/plain

Contrasting/different

Difficult/complicated

Few/not many
3.Which of these sentences are statements? Tick two.
The match started at 8pm.

Turn it on.

How long does the game last?

The break lasts 15 minutes.

When does the shop shut?
4. Circle the correct form of the verb in brackets to complete each sentence.
(was/were)

The children ________ playing.
(go/goes)

Stephen and Matt  _____ cycling every week.

(take/takes)

My mum _______ me to school.

5.  Write a different adverb in each space to help describe what Adam did.
Adam walked to school _______ and worked ___________.
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